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General English Language - General English Language
Question No.1 Marks: 1.00
Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option ‘The given sentence is
correct’.
The economic situation of farmers in the country is a dismal one which has caused
many of them to lose their livelihood.
(A) O inthe country are a dismal one which has
(8) O The given sentence is correct (Correct Answer)
(C) O inthe country are a dismal one which have
(D) O inthe country is a dismal one which have
Question No.2 Marks: 1.00
Bookmark
Fill in the blanks with suitable Article from the given alternatives.
The Supreme Court on Tuesday ordered immediate release of all journalists.
(A) O a
(B) O the (Correct Answer)
(C) O an
(D) O No Article (
Question No.3 Marks: 1.00
Bookmark
Choose the best option from the given alternatives which can be substituted for the
given word/sentence.
The act of intentionally killing oneself
(A) O Genocide
(B) O Infanticide (
(C) O Sorocide
(D) O Suicide (Correct Answer)
Question No.4 Marks: 1.00
Bookmark
Fill in the blanks with suitable Article from the given alternatives.
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The January of
(A) O a

(B) O an

(C) O the
(D) O No Article (Correct Answer) (Chosen option)

Question No.5

2019 was hot and dry.

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A person who travels on foot

(A) O Escapist

(B) O Teetotaller

(C) O Pedestrian (Correct Answer) (Chosen option)
(D) O Belligerent

Question No.6

Choose the word which expresses nearly the opposite meaning of the given word "
DEFAMATION "

(A) O slam

(8) O Approval (Correct Answer)
(C) O Lie

(D) O Detraction

Question No.7

Fill in the blanks with suitable Preposition from the given alternatives.

Thekeychainis___ the paper.
(A) O about (Chosen option)

(8) O +ill
(C) O beneath (Correct Answer)
(D) O since

Question No.8

Choose the word which best expresses the similar meaning of the given word *
STAGGER "

(A) O Steady

(B) O Peak (Chosen option)
(C) O Shake (Correct Answer)
(D) O Continue

Question No.9
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Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.

Reputed colleges has more freedom because they exist outside the city limit.
(A) O The given sentence is correct

(B) O have most freedom because they
(C) O has the most freedom because they
(D) O have more freedom because they (Correct Answer) (Chosen option)

Question No.10

Fill in the blanks with suitable Preposition from the given alternatives.

| saw him walking the street.

(A) O with

(B) O at

(C) O for

(D) O across (Correct Answer) (Chosen option)

Question No.11

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

A home for children without parents
(A) O Catastrophe

(B) ©O Sporadic
(C) O Orphanage (Correct Answer) (Chosen option)
(D) O Widow

Question No.12

Choose the word which expresses nearly the opposite meaning of the given word "
BESET ".

(A) O Clarify (Correct Answer)
(B) O Invade

(C) O Harass

(D) O Nudge (Chosen option)

Question No.13

B
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.

The data show which the digital modes of payment recorded sharp fall in value
transacted during the month.

(A) O Shows that the digital modes of (Correct Answer) (Chosen option)
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(B) O The given sentence is correct
(C) O Shows which the digital modes of
(D) © Showing that the digital modes of

Question No.14

Choose the word which best expresses the similar meaning of the given word "
SHUNNED “.

(A) O Cherish (Chosen option)
(B) O Ignore (Correct Answer)
(C) O Accept

(D) O Lock

Question No.15

Fill in the blanks with suitable Article from the given alternatives.

Netaji Subhash Chandra Bosewas _______ important leader of Indian independence
movement.

(A) O a(Chosen option)
(B) O the

(C) O No Article

(D) O an (Correct Answer)

Question No.16

Fill in the blanks with suitable Preposition from the given alternatives.

She has been writing examination ______ morning.
(A) O since (Correct Answer) (Chosen option)

() O by
(C) O for
(D) O over

Question No.17

|
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

The government_has decided to allow wedding ceremonies in religious places after a
request by leaders of different organisations.

(A) O have decided for allow wedding ceremonies in

(B) O has decided for allow wedding ceremonies in

(C) O have decided to allow wedding ceremonies in

(D) O The given sentence is correct (Correct Answer) (Chosen option)

Question No.18
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Find the word which is correctly spelt from the given options.
(A) © Uninteligible

(B) O Introvart

(C) O Erudite (Correct Answer) (Chosen option)

(D) O Cardiolgist

Question No.19 Marks

Bookmarl
Find the word which is correctly spelt from the given options.

(A) O Transiant (Chosen option)
(B) ©O Medeate

(C) © Impanding

(D) O Virtuoso (Correct Answer)

Case Study - 20 to 24

Directions: Read the passage carefully and answer the questions that follow.

India's invitation to Chinese telecom giant Huawei Technologies—a company banned in the US,
which has termed it a cyber security threat, and from building 5G networks in Australia and New
Zealand—to participate in 5G trials has aroused some concern in security and technology
establishments.

Little has changed over the past decade. India still doesn't have sufficient safeguards in the
telecom sector, which forms the backbone of the digital economy. The only thing that has
changed is the technology standard — back then, the fear was of Chinese 3G equipment fitted with
spyware; now it is Chinese 5G equipment.

Experts point out two ways that governments can adopt to guard against the perceived security
threat. One, set up auditing infrastructure to test and identify vulnerability in the telecom
equipment before deploying it in the country. Two, develop the capacity to manufacture critical

hardware components within the country. India has not made progress on either front, officials
say.

Question No.20 Marks

Bookmarl
What is considered as the backbone of digital economy?

(A) O Telecom sector (Correct Answer) (Chosen option)
(B) O Information Technology

(C) O Transportation sector

(D) © Retail Sector

Question No.21 Marks

Bookmarl
What did New Zealand prevent Huawei Technologies from?

(A) O Participating in 5G trials (Correct Answer) (Chosen option)
(B) O Building 5G networks

(C) O Setting up testing labs

(D) O Being a cyber security threat

Question No.22 Marks
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Statement 1: Once India was scared of Chinese 3G equipment and now it fears Chinese
5G equipment.

Statement 2: India has invited Huawei Technologies to participate in 5G trials.
(A) O Statement 1 is true and statement 2 is false

(B) O Statement 1 is false and statement 2 is true

(C) O Both the statements are true (Correct Answer) (Chosen option)
(D) © Both the statements are false

Question No.23

Which of the following is/are the way(s) to tackle security threat, as stated by the
experts?

(A) O Set up infrastructure for testing only

(B) O Manufacturing required hardware components internally only (Chosen option)
(C) © Setting up strong military base only

(D) O Both 1 and 2 (Correct Answer)

Question No.24

According to the passage, what does the word ‘vulnerability' mean?
(A) O Resistance

(B) O Immunity
(C) O Hardness

(D) O Insecurity (Correct Answer) (Chosen option)

Question No.25

Find the word which is correctly spelt from the given options.
(A) O Oscilate

(B) O Legitimate (Correct Answer) (Chosen option)
(C) O Emphathy
(D) O Problamatic

Ddia Language - Odia Language

Question No.1

Oe 606 og1a G211 |
(A) O Glafeedi@ (Correct Answer) (Chosen option)

(B) O @aReede

(C) O aaRerdae

(D) O GaReede

Question No.2
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‘Y& - a0Q Fafe a0 e'a ?

(A) O 20e1@

(B) O 21a@18 (Correct Answer) (Chosen option)
(C) O g¢@

(D) O ge’d

Question No.3

0@ aad ogIm Qa1

(A) O erigiaun

() O eRIgIAm

(C) O eagia (Correct Answer) (Chosen option)
(D) O exvIgIFER

Question No.4

'PaT- 60a AAIERIe QT @8 ?
(A) O aoy

(B) O <Qigiy

(C) O @@y (Chosen option)
(D) O 4@q (Correct Answer)

Question No.5

'R q1ﬁﬁf @'a?

(A) O ¢eQ (Chosen option)
(B8) O qeig

(C) O s

(D) ©O €12€1 (Correct Answer)

Question No.6

60W6 gecioe Jeaiay?

(A) O odge

(8) O @&g

(C) O @&QeI (Correct Answer) (Chosen option)

(D) O o&g!

Question No.7

'6RICA @ AR 619 ?
(A) O
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e
(8) O ogn
(C) O eJec0die
(D) © e@@@ (Correct Answer) (Chosen option)

Case Study -81to 12 5
AREYQ 6RRIPY AQQ 608 §a Ora 2016, OI'a ABRIA |1 6aZAIR 6Q OI'A 2010 Frg goed R RER QJ6A
6061QI9 60 @60 | PRA PO 60 6AFE ARE 961, P16 B 6RR RERR 6AFE AIRE @A | 96A OI'R
208 QIR 24 1 AG10 QAR A6R ANIQ 6AQ F ABA, F6a B QIS Bella aId AI Age PER | 27 606IEQ
60201d QIgZIeN 834, 20Y 0LQ AL QAUIN | ABA ARSI IHE G9! 60, 986 @F 6AEEERER 26T
6606967 QT Q6N | B 6aR 98¢l @Y RGN I6Q BIP Q8 AER ARIR 6 AT ¢fT 4 1 6aR QJR FoIR
Q6 261Y ARG ARSI QI AIF 6060 AP QR QIRE, 6960 g6, 634, AIR, 20AIR IR QTR 21gdy
RIesl 605K, 66Tae AEREY 6aB8 | ereog 1 6RE6R P60 ARIA 2MIPINR 60 g2 TR, OI'R 29AIR
62A 01d @60 eda 0aaY O6R 261§ AL FIREER |

Question No.8 Marks: 1

Bookmark
ers9 Adeisa AIeceden 6e6 JoRIde Aca AGgmI ?

(A) O Qeaefreq QG AR

(B) O @aig136Q1@ (Correct Answer) (Chosen option)
(C) O mea ascyge

(D) O Qreer 2ICRIRE

Question No.9 Marks: 1

Bookmark
AReQ 260 Ja&a?

(A) O @aie
(B) O @@ela (Correct Answer) (Chosen option)
(©) O geaI@
(D) O <daR

Question No.10 Marks: 1

Bookmark
267 2614 400 TR | IS ?

(A) O ereaeq 9 626Q 2612 (Chosen option)

(B) O ¢d aee AR

(€) O 2e1ea 98¢ @RSl AR

(D) O 20109 6§ a°04 a@6 Qda4e F¢lla QI (Correct Answer)

Question No.11 Marks: 1

Bookmark
QGeR6R 29I RO oR'] 28 @'a ?

(A) O «@aye ga
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(B) O @@ @d (Correct Answer) (Chosen option)
(C) O ebeKga
(D) O 2610 ga

Question No.12

gAY ¢ 21 6Q606RER ?

(A) O 2610 @8¢i@ NERARIA (Correct Answer) (Chosen option)
(B) O 20100 2IRRQ AERARIR

(©) O QefIPa Qeaneq e

(D) O QPEYER 2RIG0 2R 628

Question No.13

‘Baga- eod Qi ?

(A) O eduea

(B) O @918 (Correct Answer)
(C) O ¢g (Chosen option)

0 O g4

Question No.14

Oe et oga b2 1

(A) O eeIGeIa (Correct Answer) (Chosen option)
(B) O ae@em

(C) O ae@ee

(D) O eelRIem

Question No.15

'*YANIR- pPTa 606l 2] 5@ ?

(A) O 2@ &8 6rQ

(8) O @0aela

(C) O *Gq 2109 24@ QAIER (Correct Answer) (Chosen option)
(D) O aog FRa P!

Question No.16

QUA Fleig Qal Q61 I- AER 291 'AeNg’ 60€ 0ag ?
(A) O asm
(B) O ogéh
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(C) O §e14al (Correct Answer)
(D) O o (

Question No.17

TFQE gNIQ 6R ?

(A) O am

(B) O ©ga (Correct Answer)
(C) O oQ !

(D) O qge

Question No.18

‘PAade’ a0 601660 60d 3G 94 ?

(A) O gasl

(8) O aq

() O asm

(D) O egeh (Correct Answer) (Chosen option)

Question No.19

'00e9l- gofa eed 2d 5@ ?

(A) O eeg #0a el

(B) O e 1Gal

(C) O Qi@ @6RQI (Correct Answer) (Chosen option)
(D) O eaele el

Question No.20

'PARIAN- 60 QA ?

(A) O 2R

(8) O eduag

€)O g4

(D) O Q& (Correct Answer) (Chosen option)

Question No.21

'a81- 60 aniIderie aet @'a ?

(A) O eaaa

(B) O Qe

(C) O e¢ia1 (Correct Answer) (Chosen option)
@)
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D) o

Question No.22

'IRa - 61I0a 3080 a0 @'a ?

(A) O Q@& (Correct Answer) (Chosen option)
(8) O gffm

(©) O 2gRe

(D) O 2aR4

Question No.23

'qg' - QR JaG0 a0 @'a ?

A) O Qe

(B) O apea

© O 29§

(D) O ®16)& (Correct Answer) (Chosen option)

Question No.24

@ 2I10IQ @R | - ARYER 2RI 'VFI0IY’ 604 ARG ?
(A) O ag

(8) O g

(C) ©O <am (Correct Answer)

(D) O ogeh

Question No.25

'gome - 696l anIa ?

(A) O 29421919 (Correct Answer) (Chosen option)
(B) O 9Q a8

(C) O edua

(D) O e@

General Knowledge - General Knowledge

Question No.1

Who was the son of Bimbisara of Haryanka dynasty?
(A) O Chandragupta Maurya

(B) O Ajatashatru (Correct Answer) (Chosen option)
(C) O Dasharatha
(D) © Mahapadma Nanda
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Question No.2

Which has become the 15! Indian state to recognise community Forest resource Right?
(A) O Odisha

(B) O Nagaland
(C) © Jharkhand
(D) O Chhattisgarh (Correct Answer) (Chosen option)

Question No.3

On the banks of which river is the city of Mathura situated?
(A) O Mahe

(B) O Indus
(C) O Imperial Ganga
(D) O Yamuna (Correct Answer) (Chosen option)

Question No.4

The Akhandalamani Temple of Bhadrak is located on the banks of which river?
(A) O River Mahanadi

(B) O River Subarnarekha (Chosen option)
(C) O River Rushikulya

(D) O River Baitarani (Correct Answer)

Question No.5

The Hampi is situated near which river?

(A) O Periyar

(B) O Kunthipuzha

(C) © Mahanadi

(D) O Tungabhadra (Correct Answer) (Chosen option)

Question No.6

Baruneswar Mela is one of the biggest fair in Odisha begins on:
(A) O Saint Arakhita Das’ Mahasamadhi day

(B) O AkshayaTrutiya

(C) O Kartik Purnima

(D) O Makarasankranti (Correct Answer)

Question No.7

The Mandira Dam constructed on which river?
(A) O Sankh river (Correct Answer)
(B) O Mahandi River
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(C) O Brahmani River
(D) © Koel River

Question No.8

Which famous commercial passenger train has been renamed as the Netaji Express?
(A) O Kanpur - Delhi Mail

(8) ©O Mumbai - Delhi Mail
(C) O Lucknow - Delhi Mail
(D) O Howrah - Kalka Mail (Correct Answer) (Chosen option)

Question No.9

The famous Olasuni Cave festival is observed every year on the occasion of:
(A) © Makarasankranti

(B) O Kartik Purnima
(C) © AkshayaTrutiya (Chosen option)
(D) O saint Arakhita Das’ Mahasamadhi day (Correct Answer)

Question No.10

Which among the following countries has launched the Hayabusa 2 spacecraft?
(A) O Japan (Correct Answer) (Chosen option)

(B) O Iran
(C) O Botswana
(D) O New Zealand

Question No.11

Who said, "“The Muktesvar Temple is the gem of Orissan Architecture"?
(A) O JPrinsep (Chosen option)

(8) O J Forgusson (Correct Answer)
(C) © MM Ganguly
(D) O NK Shastri

Question No.12

Which of the following crop is primarily grown as fruit in Odisha unlike in Kerala, where it
is mostly grown for oil?

(A) O Sun flower
(B) © Sesamun

(C) O Coconut (Correct Answer) (Chosen option)
(D) O Linseed

Question No.13
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as tooth decay.
(A) O Fluoride (Correct Answer) (Chosen option)
(B) O Nitrate

(C) O Lead

(D) O Sulphate

WtsApp/Call- 8596976190

deficiency in drinking water is harmful to man and causes diseases such

Question No.14

Which Country virtually hosted BRICS Green Hydrogen Summit 20217
(A) O Brazil

(B) O Russia
(C) O China (Chosen option)
(D) O India (Correct Answer)

Question No.15

The official of which Ministry of the Indian Union heads the 'Heritage Conservation

Committee'?

(A) O Ministry of Tourism (Chosen option)

(8) O Ministry of Housing and Urban Affairs (Correct Answer)
(C) O Ministry of Home Affairs

(D) O Ministry of Culture

Question No.16

What is the Literacy rate of Odisha as per 2011 census?
(A) O 64.5 per cent

(B) O 70.2 per cent
(C) O 75.6 per cent
(D) O 72.9 per cent (Correct Answer) (Chosen option)

Question No.17

Which of the following cities of Odisha is regarded as Temple city of India"?
(A) O Bhubaneswar (Correct Answer) (Chosen option)

(B) O Bhadrak

(C) O Sambalpur

(©) O Puri

Question No.18

Which of the following states first started the Panchayat Raj System in India?

(A) O Jammu and Kashmir
(B) O Guijarat
(C) O Tamil Nadu

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

(D) O Rajasthan (Correct Answer) (Chosen option)

Question No.19

Boc
Which district in India has the smallest area?

(A) ©O Mahe (Correct Answer) (Chosen option)
(B) © Kachchh

(C) O Bikaner

(D) O Leh

Question No.20

Boc
The Fourth Geneva Convention relative to the

(A) O Protection of Cultural Rights across Globe

(B) O Protection of Animal Rights in Time of War

(C) O Protection of Civilian Persons in Time of War (Correct Answer)
(D) O Protection of monuments across the World (Chosen option)

Question No.21

Boc¢
What is the normal tenure of municipal bodies as provided by the 74™ amendment Act?
(A) O Four years

(B) O Six years
(C) © Three years
(D) O Five years (Correct Answer) (Chosen option)

Question No.22

Bot
Which dynasty shifted its capital from Kalinganagar to the Varanasi Katak on the bank of
Mahanadi?

(A) O Imerial Ganga (Correct Answer)
(8) © Somavamsi
(C) © Sailadbhava
(D) © Bhaumakara

Question No.23

Boc
Who appoints the chairperson of a State Human Rights Commission?

(A) © Governor of the State (Correct Answer) (Chosen option)
(B) © President of India

(C) © Chief Minister of the State

(D) © Prime Minister of India

Question No.24

Bot¢
In Mahalwari system, who were given the rights of collecting the revenue from the
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villages and paying to the company?

(A) O Zamindars (Chosen option)

(8) O English Collectors

(C) O Village Headman (Correct Answer)
(D) O Taluqdars

Question No.25

In which of the following states is Pachmarhi biosphere reserve located ?
(A) O Madhya Pradesh (Correct Answer) (Chosen option)

(8) O Jharkhand
(C) O Odisha
(D) O Rajasthan

Question No.26

Which has become the first Indian information technology (IT) company to cross the Rs
13 trillion market capitalization (market-cap) milestone?

(A) O TCS (Correct Answer)
(8) O HCL

(C) O Wipro

(D) O Infosys

Quantitative Aptitude - Quantitative Aptitude

Question No.1

What value should come in the place of question mark (in the following question?
(1/77)x37653+(1/84)x14028 = ? x 328

A)O 3
B) O 1
©) O 4
(D) O 2 (Correct Answer)

Question No.2

After 5762 liters of petrol were poured into the tank, it was still 14% empty. What is the
total capacity of the tank?(in liters)

(A) O 6500
(B) O 6700 (Correct Answer)
(C) O 6400
(D) O 6600

Question No.3

Average of 13 consecutive numbers is 564. If the average of 15! 6 numbers is 561 and
the average of last 6 numbers is 567, find the middle number.
(A) O 566
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(B) O 564 (Correct Answer)
(C) O 560
(D) O 562

Question No.4

Bo
The average of 77 numbers is 223. After excluding one of the numbers, the average

remains the same. Find the number which is excluded.

(A) O 222

(8) O 221.
(©) O 220
(D) O 223 (Correct Answer)

Question No.5

Bo
Pipe A can fill a tank in 417 minutes and Pipe B can fill the same tank in 834 minutes. If

both pipes are opened together, how many minutes will it take to fill the empty tank?
(A) O 274

(8) O 280

(C) O 278 (Correct Answer)
(D) O 276

Question No.6

Bo
What value should come in the place of question mark (?) in the following question?
9.5%(40x2.5%3.5x72)+18 = ?

(A) O 12200
(B) O 14400
(C) © 11100
(D) O 13300 (Correct Answer)

Question No.7

Bo
A can finish a work in 309 days and B can do the same work in 618 days. Working

together, they will complete the same work in how many days?

(A) © 206 (Correct Answer)

(8) O 208
(€) O 204
(D) O 202

Question No.8

Bo
Find the average of arithmetic progression whose first term is 2401 and the last term is
4623.

(A) O 3712
(B) ©O 3512 (Correct Answer)
(C) O 3812
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(D) O 3612

Question No.9

If a bus travels from city A to city B with a speed of 801 kmph and another bus travels

from city B to city A with a speed of 711 kmph, find the relative speed when both the
buses cross each other.(in m/s)

(A) O 430
(B) O 420 (Correct Answer) (Chosen option)
(C) O 440
(D) O 450

Question No.10

The average of 184 lab readings was 80 units. Later on it was found that a reading 264
was wrongly typed as 80. Find the correct average.

(A) O 81 (Correct Answer)
(8) O 83
(€ O 85
() O 79

Question No.11

If Russell distributed 2751 chocolates from a box of 6550 chocolates, what percentage
of the chocolates will be left in the box?

(A) O 60
(B) O 64
(C) O 58 (Correct Answer)
(D) O 62

Question No.12

Find the value of X:
VX x 294 = (23800-23506)x40

(A) O 1300
(8) O 1400
(C) O 1600 (Correct Answer)
(D) O 1500

.Reasoning Ability - Reasoning Ability

Question No.1

Find the next number in the series
175, 687,903, 967, 975, 7

(A) O 975 (Correct Answer)

(B) O 966

(C) O 946
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. (DO 956

| Case Study-2to 4

Directions: Read the given information carefully and answer the questions that follow. Four
students P, Q, R and S are sitting in a row facing North(not necessarily in same order). All four of
them like four different subjects namely Maths, Physics, History and Biology. i) One who likes
Maths and History sit in the extreme ends of the line. ii) R sits second to the right of the one who
likes History. iii) R doesn't like Biology and S doesn't like Maths.

iv) P and S are not neighbours. v) Q and the one who likes Biology are neighbours.

Question No.2 Mark:

Bookmai
Who likes Biology?

(A) O S (Correct Answer)
(B) O P (Chosen option)
(O R
(D) © Q

Question No.3 Mark:

Bookmal
Who sits between S and R?

(A) © One who likes Physics (Chosen option)
B)O P

(C) O Q

(D) © None (Correct Answer)

Question No.4 Mark:

Bookmal
Who sits at an extreme end of the row?

(A) © One who likes Physics

(B) O Q (Correct Answer)

© O s

(D) © One who likes Biology (Chosen option)

Question No.5 Mark:

Bookma
Find the next number in the series.
8,13, 31,55,119,?
(A) O 247
(B) O 227 (Correct Answer) (Chosen option)
(€ O 217
(D) O 237

Question No.6 Mark:

Bookma
Find the next number in the series.
48,100, 180, 294, 448, ?

(A) O 678
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(B) O 648 (Correct Answer)
(C) O 668
(D) O 658

Question No.7

Ba
A Man facing in North-East direction turns 45 degrees clockwise, then turns 135 degrees

anti-clockwise and then turns 90 degrees in clockwise direction. Which direction is he
facing now?

(A) O North-East (Correct Answer) (Chosen option)
(B) O North-West

(C) O South-West

(D) © North

Question No.8

Bc
In a certain code language, if OVER is coded as QXGT, then how is TIME coded in that
language?
(A) O GRNV
(B) © VLOH
(C) © WLPH

(D) O VKOG (Correct Answer) (Chosen option)

Question No.9

Ba

Replace the question mark with an option that follows the same logic applied in the first

air
Elerd : Elephants :: Pride : 7?
(A) O Foxes
(B) O Tigers
(C) O Wolves
(D) O Lions (Correct Answer) (Chosen option)

Question No.10

Ba
Find the next number in the series.
572, 545, 506, 455, 392, ?

(A) O 327
(8) O 347
(C) © 317 (Correct Answer)
(D) O 337

Question No.11

Be
In a certain code language, if HUSBAND is coded as ITTABME, then how is MONSTER
coded in that language?

(A) ©O NNORUDS (Correct Answer) (Chosen option)
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